e L SN AR
HE: PWAYS HYIIE HE(SYHLLL/HS2 - OE)
CHOl: M4 JIBAIA 85 CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
o= AHE M 24,241,514 24,440,770 A 199,256
= 2,541,000
Xl 15,129,000
< 6,571,514
A= 0PI S (sl Lt/ 28 - HE) 24,183,714 23,412,698 771,016
= 2,541,000
Xl 15,129,000
< 6,513,714
AL JIBHAIY &= 8,748,614 2,867,110 5,881,504
= 1,029,000
Xl 4,953,000
< 2,766,614
A2y PEXZH(21) 406,500 683,420 A 276,920
= 342,000
= 64,500
403 A X EHHS =0l A 406,500 683,420 A 276,920
= 342,000
< 64,500
01 X EHH A= LE XL 322,500 599,420 A 276,920
OHIZoHHE 2HAY 322,500
= 300,000
< 22,500
02 S| 2 S0l CHEHCH & A Bl 84,000 84,000 0
OAHH0 Y AEHZAL 84,000
= 42,000
< 42,000
Agog s+ 514,000 460,000 54,000
401 AIEHI L 20 444,000 410,000 34,000
01 A& HI 441,000 410,000 31,000
oxgusg =22 441,000
03 AlE 2 THHI 3,000 0 3,000
oxgog Ex=22 3,000
403 MtXISHHE A0l & 70,000 50,000 20,000
01 X SHHA2E = 70,000 50,000 20,000
OX &g Ar=2tel 70,000
HEFFOENE 590,000 590,000 0
403 A X EHS =0l A 590,000 590,000 0
01 X SHHA2E= 590,000 590,000 0
OEMIMHENY =4 300,000
ONE FF0HE HEX 240,000
OU=Ze OtxIE XI=Al& 50,000
2ol e dad S 179,500 134,404 45,096
202 4l 12,000 12,904 A 904
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43 ssHEs SN SMFBD
A FMBYS 01UI|Y HE(SYHYLL/HS LM - 0/F)
CHOl: M4 JIBAIA 85 CERED
224 - BB SAEH) - MPAY - BES 0l &t o il HREZ
01 SLHOYI 12,000 12,904 A 904
o220y Mad U 12,000
403 A X EHHS =0l A 167,500 121,500 46,000
01 AXSHHMA2E = 167,500 121,500 46,000
OFXoL MEI X 52,500
oojgele g JigdA K& 50,000
OE(H)AHE S&X HEt 16,000
OEJtAtel =0HALY 49,000
MIHEH? AEAIE (=) 707,614 564,286 143,328
=2 627,000
=) 80,614
403 A X EHHS =0l A 707,614 564,286 143,328
2 627,000
=) 80,614
01 AXISHH A2 = 707,614 564,286 143,328
Od=old O+ ANEES 707,614
2 627,000
< 80,614
NgoHgA4(=21) 1,250,000 375,000 875,000
Xl 1,000,000
< 250,000
401 AIEHIZL 20 1,250,000 375,000 875,000
Xl 1,000,000
< 250,000
01 A& HI 1,245,500 375,000 870,500
oONgHEAL (2222 E) 1,245,500
Xl 996,400
& 249,100
03 AlE S THHI 4,500 0 4,500
oxNgHeAL (222 8) 4,500
Xl 3,600
< 900
flldE FH(=1) 60,000 60,000 0
= 60,000
403 A X EH S =0l A 60,000 60,000 0
= 60,000
01 XXM A2E = 60,000 60,000 0
Oodiltel M A 60,000
= 60,000
NLog SFISHINEA (MFEE JE XA 100,000 0 100,000
207 5100 & Hl 100,000 0 100,000
01 2284 100,000 0 100,000
OA=&d SSEXZA 100,000
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AR gBsHEs SN AAE D)
HE: PWAYS HYIIE HE(SYHLLL/HS2 - OE)
CHOl: M4 JIBAIA 85 CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
o2 XEog AZEH(=1) 4,941,000 0 4,941,000
X 3,953,000
< 988,000
401 Al HI K 201 I 4,941,000 0 4,941,000
Xl 3,953,000
< 988,000
01 A& Bl 4,927,659 0 4,927,659
Ol F 2t XEoie AILEH (1eH) 4,927,659
Xl 3,942,328
< 985,331
03 Al S THHI 13,341 0 13,341
OTHoH = ot XL g AlEAHl (1) 13,341
X 10,672
= 2,669
Jzeog =4 6,089,600 10,269, 884 A4,180,284
= 1,512,000
Xl 2,510,000
< 2,067,600
CIOHOIE MIAHZE 22l 915,500 754,004 161,496
202 04 Hl 9,000 9,004 A4
01 =LHOIHI 9,000 9,004 A4
O=&TAZTEANY = 9,000
403 UHXSHHSA=0l& 906,500 745,000 161,500
01 XM A2E X 906,500 745,000 161,500
OdlE= AHIMN &% 156,000
ONU=3 HEF LEIRZ 300,000
O&oteldl Mgy A 60,000
O AMA Ltetd =4 300,000
Oofld &A% XA 90,500
g o722 XN (F2) 15,600 8,000 7,600
= 12,000
< 3,600
403 Ut SHHS =0l & 15,600 8,000 7,600
= 12,000
< 3,600
01 AXSHHA=2E = 15,600 8,000 7,600
O R (YE 2H) 22X 15,600
= 12,000
< 3,600
AIZHZ=AIE (=12) 1,250,000 3,750,000 22,500,000
Xl 1,000,000
< 250,000
401 AIEHI L 201 1,250,000 3,720,000 A 2,470,000
Xl 1,000,000
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A= EEdlzs 2N A EE)
HE: PWAYS HYIIE HE(SYHLLL/HS2 - OE)
H: JlE2eEng 4 (2 &HH)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Ei HR=2
= 250,000
01 Al&H| 1,245,500 3,709,875 N2,464 375
OBHXEAHA 1,245,500
Xl 996,400
o= 249,100
03 Al 204 Y| 4,500 10,125 N5,625
OAZBH=EAHA 4,500
N 3,600
& 900
H=&22(=22D) 187,500 375,000 A 187,500
Xl 150,000
o=t 37,500
401 AIEHIZL 2 0HY| 77,500 375,000 A 297,500
Xl 62,000
& 15,500
01 Al&H| 77,500 372,300 A 294,800
OH=01 & 2te 77,500
Xl 62,000
o= 15,500
403 XX SRS K20 & 110,000 0 110,000
N 88,000
= 22,000
02 2J| 2 S 0l CH StCH & AF H 110,000 0 110,000
OCBHZEAIA EHXIXA 30,000
Xl 24,000
& 6,000
OHZHEAAE XA 80,000
Xl 64,000
& 16,000
HiCt=X & (=210) 530,000 840,000 A 310,000
N 505,000
& 25,000
403 XX SHHS K20l & 530,000 840,000 A 310,000
N 505,000
= 25,000
01 XHHE2E =X 530,000 840,000 A310,000
OHditts &4 530,000
Xl 505,000
= 25,000
EAZSQILLFAH(ZD) 788,000 714,880 73,120
Xl 741,000
o=t 47,000
207 O 4| 10,000 10,000 0
01 72| 10,000 10,000 0
O=MZEEQ KA DMAH L 10,000
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e L SN AR
HE: PWAYS HYIIE HE(SYHLLL/HS2 - OE)
29l J2E0Y S4 CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
403 UHXSHHSA=0l& 778,000 704,880 73,120
X 741,000
< 37,000
01 X SHMA2E X 778,000 704,880 73,120
O=4ERHYLR 778,000
Xl 741,000
< 37,000
FANBLRYR SUZTAN(ZTLD) 143,000 143,000 0
Xl 114,000
< 29,000
403 MtXISHHE X201 & 143,000 143,000 0
Xl 114,000
< 29,000
02 SI| 2SO0l CHEHCHEH AH B 143,000 143,000 0
OFUSHHYL T SWHIA 143,000
X 114,000
< 29,000
SHYHUHXIOIE 283 (4 (=21) 1,100,000 0 1,100,000
= 1,000,000
< 100,000
403 A X EHHS =0l A 1,100,000 0 1,100,000
= 1,000,000
< 100,000
01 X SHHMA=2LE L 1,100,000 0 1,100,000
oFANUNES (sHLHMHXOIESES) 1,100,000
= 1,000,000
< 100,000
A ExH 510,000 1,365,000 A 855,000
403 MtXSHHSA=0l& 510,000 1,365,000 A 855,000
01 X SHMA=E X 510,000 1,365,000 A 855,000
Odllay Mg 2H4l 510,000
A SstSA AL (21) 650,000 520,000 130,000
= 500,000
< 150,000
403 MtXISHHE X201 & 650,000 520,000 130,000
= 500,000
< 150,000
01 AXISHH A2 E= 650,000 520,000 130,000
OA A St AAAIH 650,000
= 500,000
< 150,000
SSANE =4 ¥ =42 XA 9,345,500 10,275,704 930,204
Xl 7,666,000
< 1,679,500
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A= BsHER FA AR
A FMBYS 01UI|Y HE(SYHYLL/HS LM - 0/F)
el KFSAE 24 ¥ #4842 IHXMD (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
408 RSMH HE N (=21) 4,060,000 4,072,500 A 12,500
X 3,706,000
< 354,000
403 UHXISHHSA=0l& 4,060,000 4,072,500 A 12,500
Xl 3,706,000
< 354,000
01 HXESHMA=LE L 4,060,000 4,072,500 A 12,500
=2 RSSFUH 3,610,000
Xl 3,406,000
< 204,000
O=&2 N E 450,000
X 300,000
< 150,000
=82 IS . KRSIIEAIE & BHZOHH 557,500 364,004 193,496
201 Let24d] 20,000 15,000 5,000
03 &AL S HI 20,000 15,000 5,000
O==4tAS M3 M 20,000
202 Odl 9,000 9,004 N4
01 = LH 4 Hi 9,000 9,004 oy
O=ttE IS - RSIIEAIE & BHZIHH 9,000
207 RO ] 20,000 85,000 A 65,000
01 A3 39 20,000 85,000 A 65,000
FMAME NG M 20,000
307 gl2tol & 135,000 125,000 10,000
02 IZtE M AIHE L 135,000 125,000 10,000
O=x=4&2 aUWAHISE AKX 45,000
OHAAZE HEXA 90,000
403 UM S X201 & 373,500 130,000 243,500
01 X EHHM A= LE L 373,500 130,000 243,500
OEHE2 M2MEAIL K& 168,000
SAMAFE StNgaEsg 274 X 156,000
oXzZeldg & AHE4ds X 9,000
O=dts ==H SFHE X 31,500
OJag 2L EE Wi 50,000
OO0IOFM g =MEAETHE HIJISAIE 100,000
SASIHSHUERE(2D) 3,248,000 4,931,200 A 1,683,200
Xl 2,960,000
< 288,000
403 X SHHE =0l & 3,248,000 4,931,200 A 1,683,200
N 2,960,000
= 288,000
01 XM A=2E X 3,248,000 4,931,200 A 1,683,200

- 689 -




R
B S
R0 -
<<
<k <
- 00
mm
<
<+
30
]

0
Ho

H0 g

ol 2]
B <

m_ oK

SR
T
o3 X
BA<
U0 %0 U
) ®0 Ok

= A

JHXI A2

M & oF
< RO T

<

n0

Kio

Hl w

1,300,000

1,300,000

1,300,000

A 180,000

A 180,000

A 180,000

4,728

4,728

4,728

5,728

5,728

4,000

4,000

H3r
Wikd
RIS

360,000

360,000

360,000

53,072

53,072

53,072

15,000

15,000

28,872

28,872

4,200
4,200

0l &t o

1,248,000

Xl

960,000

H

288,000
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